01 12 27

G )

35,081 | 34,806 | o | 27| |

0.78
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0000146671




H28 |H29 [H30 [H31 [Ro2

A01-001 u 456
A01-002 u 897
A01-003 n n n n n 3,273
A01-004 n n n n n 6,785
A01-005 [ I B A B | 500
A01-006 u 747

0000146671




H28 |H29 [H30 [H31 [Ro2

A01-007 u 450
A01-008 n n n n n 1,305
A01-009 n n n n n 1,410
A01-010 n n n n n 3,500
A01-011 n n n n n 2,000
A01-012 [ I B A B | 530

0000146671




H28 |H29 [H30 [H31 [Ro2

A01-013 [ [ [ [ [ 287
A01-014 [ [ [ [ [ 200
A01-015 [ [ [ [ [ 403
A01-016 [ [ [ [ [ 214
A01-017 | | u | | 249
A01-018 15m [ D B B 2,000

0000146671




H28 |H29 [H30 [H31 [Ro2

A01-019 15m [ I B 2,500
A01-020 15m [ I B 500
A01-021 15m [ I B 1,500
A01-022 L=1200m [ I B 1,200
A01-023 L=600m [ I B 1,000
A01-024 LI B 200

0000146671




H28 |H29 [H30 [H31 [Ro2

A01-025 N R 200
A01-026 L=1,100m . 800
A01-027 L=900 | | | | . | 600| |
A01-028 L=500m . 600
A01-029 L=400m . 500
| L L [ [ sss0s] |
L L[ [ ] sas0s] |

0000146671




H28 |H29 [H30 [H31 [Ro2

] CTefelel [
] I R
] I

0000146671




H28 H29 H30
@) 2,258 2,288 2,852
) 0 0 0
(c=a+b) 2,258 2,288 2,852
(@ 0 1,097 1,262
e) 1,161 2,123 2,350
) 1,097 1,262 1,764
@ 252 189 839
(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 11.16 5.58 20.39
10 2

0000146671



